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August 11, 2017

Parabolas

Glue your parabola foldable on this page.

Fold in 1/2 & write the following on it:

—~~
X
1
-
~
N
I

~~
<
1
>~
~
N
I

~~
<
1
>~
~
N
I

(x-hY=+4p(y-k) x*&+popensup \_J

-“4p(y - k)  x* & -p opens down /\

+4p(x - h)  y? & +p opens right<

-“4p(x - h)  y? & -p opens left >

21

Aug 10-4:19 PM

Parabolars 22

Graph & state the vertex, focus & directrix.
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1. Plot the vertex () et
2. Use pto count inside from e —>

vertex to find the facus
3. Use p-to count autside from
vertex to find the directrix
4. Thewidth of the parabola is
4p-through the focus
Y~ 4e [
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3. Write in standard form & state vertex, focus & directrix.

8x =y?- 10y -39
A +39 - move 'c' to the side with the

?-X +3!=1425—_ 5,_1053 425 variable that isn't squaredb 2
Zio" ->~_(_5: - complete the square (_31

X+ Y=< Ca_-S33\ - rewrite as a (binomial)?
? (X‘\' %) - (3\3—531 - factor out leading coefficient
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4. Find the equation of the parabola with a vertex @ \6)
& focus (3, 5).

opens L so XT-P
(x—) = Up (y-K
(¥~ =-4-4Cy-

(x-3) =1 (y-F)

5. Find the equation of the parabola given its graph.
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